McTaggart’s proof of the
unreality of time



Today we’ll discuss the last of our paradoxes of space and time: McTaggart’s argument for the unreality of time.

John McTaggart Ellis McTaggart was born in 1866; his most
important work, from which our reading today was taken, was
published in two parts in1921 and, posthumously, in 1927. It is
entitled, modestly, The Nature of Existence.

Personally, McTaggart’s life seems to have been unexceptional,
though marked by eccentricity. He was known around Cambridge
for his habits of getting around by riding a tricycle, and for
saluting cats when he passed them.

His central philosophical conviction was that reality was
fundamentally spiritual; and his central aim was to show this by
deriving contradictions from the assumption that the material
world exists.

The most important of his arguments of this sort was his
argument that the existence of time itself involves a contradiction.
In the passage we read, he puts his view very clearly:

I believe that nothing that exists can be temporal, and that
therefore time is unreal.



The most important of his arguments of this sort was his
argument that the existence of time itself involves a contradiction.
In the passage we read, he puts his view very clearly:

I believe that nothing that exists can be temporal, and that
therefore time 1s unreal.

The key to understanding McTaggart’s argument is understanding
his distinction between the A-properties and the B-properties.

305. Positions in time, as time appears to us primd facie, are
distinguished in two ways. Each position is Earlier than some
and Later than some of the other positions. To constitute such
a series there is required a transitive asymmetrical relation, and
a collection of terms such that, of any two of them, either the first

is 1n this relation to the second, or the second is in this relation to
the first. We may take here either the relation of “earlier than”
or the relation of “later than,” both of which, of course, are transi-
tive and asymmetrical. If we take the first, then the terms have
to be such that, of any two of them, either the first 1s earlier than
the second, or the second 1s earlier than the first.

In the second place, each position is either Past, Present, or
Future. The distinctions of the former class are permanent, while
those of the latter are not. If M 1s ever earlier than N, it is always
earlier. But an event, which is now present, was future, and will
be past.
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Future. The distinctions of the former class are permanent, while
those of the latter are not. If M is ever earlier than N, it is always
earlier. But an event, which 1s now present, was future, and will
be past.

Here McTaggart says that the first class of properties The second class of properties -- which he later calls the
he is interested in -- which he later calls the B series A series properties -- includes “past”, “present”, and
properties -- includes “earlier than” and “later than” “future.” These properties are not permanent: so, for
and is permanent, in the sense that if an event has a example, is an event is future, this does not imply that it
certain B-series property, it always does. So, for will always be future.

example, if X is earlier than Y, then X is always earlier

than .

It’s important to get a handle on this distinction; let’s run through some examples.
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| think that two things are clear: McTaggart is right that there is a genuine distinction between
these two classes of properties, and in our ordinary thought about time, we do think that some
events really have both kinds of properties.



A-series properties: temporal properties B-series properties: temporal properties
which are not permanent; examples include which are permanent; examples include
“past”, “present”, and “future.” “earlier than” and “later than”.

| think that two things are clear: McTaggart is right that there is a genuine distinction between
these two classes of properties, and in our ordinary thought about time, we do think that some
events really have both kinds of properties.

Using this distinction, McTaggart’s argument can be thought of as having the following structure:

1. Nothing really has any A-series property.
2. If nothing really has any A-series property, then nothing exists in time.

C. Nothing exists in time. (1,2)

Let’s turn first to his argument for premise 1.



A-series properties: temporal properties
which are not permanent; examples include
“past”, “present”, and “future.”

2. If nothing really has any A-series property, then nothing

existenintirme: B-series properties: temporal properties

which are permanent; examples include

C. Nothing exists in time. “earlier than” and “later than”.

Let’s turn first to his argument for premise 1.

Here is what McTaggart says about this premise:

329. Past,present,and future are incompatible determinations.
Every event must be one or the other, but no event can be more
than one. If T say that any event is past, that implies that it
1s neither present nor future, and so with the others. And this
exclusiveness is essential to change, and therefore to time. For
the only change we can get is from future to present, and from
present to past.

The characteristics, therefore, are incompatible. But every
event has them all®. If M is past, it has been present and future.
If 1t 1s future, it will be present and past. If it is present, it has
been future and will be past. Thus all the three characteristics
belong to each event. How is this consistent with their being
incompatible?

The idea here seems to be this: if any event has one of the three basic A-series properties of past, present,
and future, it has all of them. (Let’s forget for now about the possibility of a first and last moment of time;
they would have just two of these three properties.) But this is impossible, since these properties are, as he
says, incompatible. So no event ever has any of these properties.
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McTaggart’s argument for the unreality of time which are not permanent: examples include

1. Nothing really has any A-series property. “past”, “present”, and “future.”
2. If nothing really has any A-series property, then nothing : : _
exists in time. B-series properties: temporal properties
which are permanent; examples include
C. Nothing exists in time. “earlier than” and “later than”.

The idea here seems to be this: if any event has one of the three basic A-series properties of past, present,
and future, it has all of them. (Let’s forget for now about the possibility of a first and last moment of time;
they would have just two of these three properties.) But this is impossible, since these properties are, as he
says, incompatible. So no event ever has any of these properties.

We can lay out this defense of premise 1 as follows:

McTaggart’s argument
that there is a

contradiction in the A-
series.

This is a valid argument; it is of the form: (1) If p then g, (2) not-q, therefore (C) not-p.

So, the only question we need to ask about this defense of premise (1) of McTaggart’s argument for the unreality
of time is: are its premises true?
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exists in time.
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McTaggart’s argument
that there is a

contradiction in the A-
series.

So, the only question we need to ask about this defense of premise (1) of McTaggart’s argument for the unreality
of time is: are its premises true?

As McTaggart is aware, this argument is open to an obvious objection. (As he puts it, “it has been impossible to
state the difficulty without almost giving the explanation.”) The objection might be put like this:

McTaggart’s argument rests on an ambiguity. Every event has all of the A-series properties at
some time or other; but what is impossible is that any event have all of these properties at
the same time. We can’t just talk simply about events having these properties -- being past,
present and future -- we have to talk about them having these properties at certain times.
And when we do that, the contradiction goes away, since there is no contradiction in a certain
event being past at one time but future at another.

Let’s call this the obvious objection. McTaggart thinks that the obvious objection fails. To see why, we have to ask:
what does it mean for an event to have one of these three properties at a certain time?
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McTaggart’s argument
that there is a

contradiction in the A-
series.

What does it mean for an event to have one of these three properties at a certain time?

Here is one thing we might mean: perhaps no event simply has the properties of being past, present, and future.

Instead, it has these properties: will be past, is present, was future. So instead of our three simple A-series
properties--

past
present
future

We should really be talking about these nine second-level A-series properties:

was past is past will be past
was present is present will be present
was future is future will be future



1. Nothing really has any A-series property.

2. If nothing really has any A-series property, then nothing

exists in time.

C. Nothing exists in time.
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What does it mean for an event to have one of these three properties at a certain time?

was past is past
was present IS present
was future is future

will be past
will be present
will be future

We should really be talking about these nine second-level A-series properties:

was past is past
was present IS present
was future is future

Or, in other words:

past in the past past in the present
present in the past present in the present
future in the past future in the present

will be past
will be present
will be future

past in the future
present in the future
future in the future



1. Nothing really has any A-series property.
2. If nothing really has any A-series property, then nothing
exists in time.

C. Nothing exists in time.

McTaggart thinks that this delays rather than resolves the
contradiction in the A-series.

The problem that McTaggart sees here is that just as our three initial
A-series properties (past, present, future) are both incompatible and
such that every event that has one has them all, the same can be
said of our new nine A-series properties.

To see this, focus on the three “middle” second-level A-series
properties. Isn’t there the same contradiction in an event having all
three of these as in an event having the three first-level A-series
properties of being past, present, and future?

One might reply to McTaggart as follows:

A-series properties: temporal properties
which are not permanent; examples include
“past”, “present”, and “future.”

B-series properties: temporal properties
which are permanent; examples include
“earlier than” and “later than”.

9 second-level A-
series properties

past in the past
present in the past
future in the past

past in the present
present in the present
future in the present

past in the future
present in the future
future in the future

No, it simply is not true that every event has each of these nine

second-level A-series properties; each event has all of these

properties at some time. While it is true that event event which is
present in the present was future in the present and will be past in
the present, no event has each of these properties at the same

time.

This is to repeat the obvious objection: it is once again to insist that we can only talk about events
having A-series properties at a certain time. But on our present construal of that objection, this just
amounts to the claim that we should abandon the 9 second-level A-series properties in favor of the 27

third-level A-series properties.
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One might reply to McTaggart as follows:

No, it simply is not true that every event has each of these nine
second-level A-series properties; each event has all of these
properties at some time. While it is true that event event which is
present in the present was future in the present and will be past in
the present, no event has each of these properties at the same
time.

This is to repeat the obvious objection: it is once again to insist that we can only talk about events
having A-series properties at a certain time. But on our present construal of that objection, this just
amounts to the claim that we should abandon the 9 second-level A-series properties in favor of the 27

third-level A-series properties.

To see that this will not help, it is sufficient to note that among the 27 third-level A-series properties will be:

past in the present in the present
present in the present in the present
future in the present in the present

But as with the relevant first- and second-level A-series properties it seems both that (i) every event has all of these
third-level properties, and yet (ii) these third-level properties are incompatible. Hence the contradiction in the A-series,

McTaggart thinks, remains.
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To see that this will not help, it is sufficient to note that among the 27 third-level A-series properties will be:

past in the present in the present
present in the present in the present
future in the present in the present

But as with the relevant first- and second-level A-series properties it seems both that (i) every event has all of these

third-level properties, and yet (ii) these third-level properties are incompatible. Hence the contradiction in the A-series,
McTaggart thinks, remains.

This, of cou;‘se, is the same difficulty over again. And so on in-
finitely. .
Such an infinityisvicious. The attribution of the characteristics
past, present, and future to the terms of any series leads to a
contradiction, unless it is specified that they have them succes-
sively. This means, as we have seen, that they have them in
relation to terms specified as past, present, and future. These
again, to avoid a like contradiction, must in turn be speciﬁc‘ad as
past, present, and future. And, since this continues infinitely,
the first set of terms never escapes from contradiction at all™.



2. If nothing really has any A-series property, then nothing
exists in time.

C. Nothing exists in time.
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To see that this will not help, it is sufficient to note that among the 27 third-level A-series properties will be:

past in the present in the present
present in the present in the present
future in the present in the present

But as with the relevant first- and second-level A-series properties it seems both that (i) every event has all of these
third-level properties, and yet (ii) these third-level properties are incompatible. Hence the contradiction in the A-series,

McTaggart thinks, remains.

This, of cou;*se, is the same difficulty over again. And so on in-
finitely. .
Such an infinityis vicious. The attribution of the characteristics
past, present, and future to the terms of any series leads to a
contradiction, unless it is specified that they have them succes-
sively. This means, as we have seen, that they have them in
relation to terms specified as past, present, and future. These
again, to avoid a like contradiction, must in turn be specified as
past, present, and future. And, since this continues infinitely,
the first set of terms never escapes from contradiction at all’.

Let’s sum up. The obvious objection to McTaggart’s
defense of premise (1) of his argument was that we
can’t just talk about events having the A-series
properties of past, present, and future, but rather
must talk about whether an event is present or
was future. This amounted to a switch from first-
level to second-level A-series properties; but we
saw that this does not avoid the contradiction. And
this contradiction will remain at the third level, the
fourth level, and so on. So the obvious objection
does not seem to remove the contradiction in the
A-series, and so does not help to block
McTaggart’s defense of the first premise of his
argument for the unreality of time.
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However, one might at this point try a different line of reply:

The obvious objection, take 2

Look, when | said that events don’t simply have or not have the A-series properties but only have them at
a time, | didn’t mean to replace past, present, and future, with second-level A-series properties like being
past in the present. What | meant was that the properties that events really have are properties like

past relative to 1/1/2010

and these properties don’t seem to lead to any contradiction, since it is simply not true that every event
which has this property also has, for example, the property of being future relative to 1/1/2010. So
McTaggart’s argument that the A-series involves a contradiction fails.

What is wrong with version 2 of the obvious objection, from the point of view of someone who wants to object
to premise (1) of McTaggart’s argument for the unreality of time?

It is very natural to think that we can block McTaggart’s argument for the conclusion that the A-series is
contradictory by saying that events only have A-series properties at certain times. But on one way of
developing this thought, we don’t really get rid of the contradiction; and on the other, we end up giving up on
A-series properties altogether, which is just to agree with McTaggart’s first premise.
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It is very natural to think that we can block McTaggart’s argument for the conclusion that the A-series is
contradictory by saying that events only have A-series properties at certain times. But on one way of
developing this thought, we don’t really get rid of the contradiction; and on the other, we end up giving up on
A-series properties altogether, which is just to agree with McTaggart’s first premise.

At this point, you might wonder: why would this be Take any event—the death of Queen Anne, for example—and
so bad? Why not think that events have B-series consider what changes can take place in its characteristics. That
properties, but don’t really have A-series properties? 1t 1s a death, that it is the death of Anne Stuart, that it has such
Why think, as McTaggart’s premise (2) says, that if we causes, that 1t has such effects—every characteristic of this sort
give up on the A-series properties we have to give up never changes. “Before the stars saw one another plain,” the
on the idea that objects exist in time at all? event in question was the death of a Queen. At the last moment

of time—1if time has a last moment—it will still be the death of
a Queen. And in every respect but one, it is equally devoid of
change. But in one respect it does change. It was once an event
in the far future. It became every moment an event in the nearer
future. At last 1t was present. Then it became past, and will
always remain past, though every moment it becomes further
and further past.

Such characteristics as these are the only characteristics which
can change. And, therefore, if there is any change, 1t must be
looked for in the A4 series, and in the 4 series alone. If there is no
real A series, there is no real change. The B series, therefore, is not
bv 1tself sufficient to constitute time, since time involves change.

McTaggart defends the second premise of his
argument by trying to show that time requires
change, and that genuine change requires the reality
of A-series properties.
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McTaggart’s argument for the unreality of time . .
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1. Nothing really has any A-series property. “past”, “present”, and “future.”
2. If nothing really has any A-series property, then nothing
exists in time. B-series properties: temporal properties
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C. Nothing exists in time. “aarlier than” and “later than®.

One might, however, respond to McTaggart’s argument as follows:

The B-theory of time

The B-theorist defends the reality of time by agreeing with McTaggart about the A-properties, but rejecting premise 2
of McTaggart’s argument.

Is the B-theory an acceptable view of time?

One apparent consequence of the B-theory is eternalism: the view that the past and the future - and the objects and
events of the past and future - exist in just the same way as the objects and events of the present moment. This
seems to be a consequence of the B-theory, since according to the B-theory there is no property of “being the
present moment” which singles out one time as special. (That would be an A-series property.)



The B-theory of time

One apparent consequence of the B-theory is eternalism: the view that the past and the future - and the objects and
events of the past and future - exist in just the same way as the objects and events of the present moment. This
seems to be a consequence of the B-theory, since according to the B-theory there is no property of “being the
present moment” which singles out one time as special. (That would be an A-series property.)

One way to understand eternalism is by analogy with space. No one (at least, no one sensible) would think that only
objects here exist; the eternalist makes an analogous claim about the now. Indeed, the spatial analogy is useful for
understanding the B-theory more generally. Denial of A-series properties is sort of like the denial that there is any
genuine property of here-ness.

Many people find eternalism to be hard to accept. When we say that the past is gone, for example, aren’t we saying
that it no longer exists?

But perhaps this is an area in which common sense should be rejected; after all, as we’ve seen, the B-theorist can
point out that eternalism can be given a plausible defense from the theory of special relativity’s claim that there is no
such thing as absolute simultaneity. And if there are no facts about which events are absolutely simultaneous with a

certain event, how can we draw a distinction between what exists and what does not in terms of the present
moment?



The B-theory of time

But there are some other surprising consequences of the B-theory. One is the status that it assigns to the present

moment.
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Suppose that you have complete amnesia, and are
presented with a series of books which detail the
whole history of planet earth -- past, present, and
future. You might think that when you finish reading
the books, you will still have one question which in
unanswered: namely, Which moment is the present
moment?

There is a sense in which the B-theorist thinks that
this question has only a trivial answer: each time is
present relative to itself, and no event is PRESENT,
period, since no event has any A-series properties.
But this seems odd. Doesn’t our history leave out a
genuine fact?
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The B-theorist can reply that there is a sense in
which our history “leaves something out”; but this
is the same sense in which the map at right leaves
something out. Since this should not convince us
that there is an objective property of “here-ness”,
the example of the world-history should not
convince us of the reality of A-series properties.

Suppose that you have complete amnesia, and are
presented with a series of books which detail the
whole history of planet earth -- past, present, and
future. You might think that when you finish reading
the books, you will still have one question which in
unanswered: namely, Which moment is the present
moment?

There is a sense in which the B-theorist thinks that
this question has only a trivial answer: each time is
present relative to itself, and no event is PRESENT,
period, since no event has any A-series properties.
But this seems odd. Doesn’t our history leave out a
genuine fact?
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However, one can challenge the sort of analogy that the B-theorist wants to draw between time and space.

We all know what it is to wait for something — an examination, for
example; or coming home from the war; or Christmas. What we’re waiting for
begins by being future; it hasn’t yet come to pass. Then a time comes when it
does come to pass — when it’s present, and we’re aware of its presentness, and
there’s no mistaking it. And then it’s past, and we say, perhaps, “Thank good-
ness all that’s over’; and we all know quite well what this ‘being over’ is, and
couldn’t mistake it for anything else.

from Arthur
Prior, “Some
free thinking
about time”
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One way of bringing out Prior’s idea is to point out that there seem to be genuine asymmetries between past and
present which have no obvious analogue in the case of space. This emerges especially clearly, he thought, when
we think about the difference between some painful experience being in the future and being in the past. One
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might think that to capture this disanalogy one needs to believe in A-series properties.

Another way to argue that time and space are less analogous than the B-theorist thinks is to focus on the fact that
time, unlike space, is something that moves. Our language for talking about time is full of metaphors that pick up
on this: we talk about time flowing, or the passage of time. But according to the B-theorist, there can be no such

thing as the movement or flow of time; hence this aspect of our experience of time must be an illusion.

However, here again the B-theorist has a response; and this is to point out that a plausible case can be made that
the flow of time must be an illusion. After all, if time moves, there must be some speed at which it moves; but how

could there be a speed at which time moves, since speeds are measured with respect to time?



Summing up: McTaggart gave us the following argument against the reality of time.

1. Nothing really has any A-series property.
2. If nothing really has any A-series property, then nothing
exists in time.

C. Nothing exists in time.

If one believes that things really do exist in time, then one must reject one of the premises of this argument. Two
opposing views of time are defined in part in terms of which premise they reject.

The A-theorist rejects the first premise, and holds that events really do have A-series properties like being present.
To defend A-theories, one must explain where McTaggart’s argument that the A-series involves a contradiction
goes wrong, and what it could mean to say that time flows.

The B-theorist rejects the second premise, and holds that the absence of A-series properties needn’t count
against the reality of time, which requires only B-series properties. To hold the B-theory, one must defend the
claims that the B-theory can give an acceptable account of change, the sense in which time seems to move, and
the (apparent) special status of the present.



